Efficiency vs Dxy |

1.2

efficiency vs dxy

0.4F il

0.8t

0.6 41

0.2 i

Ratio

=
T T T T[T 1711

0.9

%0 =15 =10 -5

| Efficiency vs Dz |

0

=
!

Az
]
i
N
]
i
.

5 10 15 20
TP dxy (cm)

—=— DQM_CKF-test_1000evt
—e— DQM_CKFREFit-test_1000evt
—— DQM_mkFitREFit-test_1000evt

0.5

s dz

V.

o
>
T

iency
©
T

2 g
EO'35:_
(<] C

o
w
I

.................

....................................................

—+— DOQM_NANTEST 1000evt

o SO . SRS N S -
C P
0.05f o R P R
nE|||| |||||"|“|.“.. *-“++|“"i|||| | |
o+ 5
T
e L

10

20 30
TP dz (cm)




	Contents
	Page 1


